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16U/113/24 (1)

No. of Questions/s¥=i < d@T : 180

Time : 2 Howrs Full Marks : 450

a9y ; 29 [quriss : 450

Instruction :

dw:

Note : (/) Each question carrieg 3 (three) marks. O

This paper consists of Objective Type Questions and is divided into Two
Sections (I & IT) as under : ,

T -3 sgfaswedia wel 7 aneia ? 9w gt wvet (1 & 1), S AR affa
'%, ¥ faw % :

(@) Section-1 : Consists of 120 Objective Type Questions on General

Awareness, Mental Ability, Comprehension and Subject Awareness in
some major subjects. 4

Qus-1: § 120 sgfemedia s am [, HAfeF A a1 B T
fort & 9 R amenRa # |
(b) Section-II : Consists of 30 Objective Type Questions on (1) English
Language and (II) Hindi Language.
Tue-11 : 3 30 agfredta ww (1) st s otk (1) Rt s & <
YT § |
The candidate is required to attempt as many questions as he/she can of
Section-I, and Questions on ANY ONE of the TWO Language papers
(T) English OR (1) Hindi in Section-I¥. ,
mﬁﬁﬁm%%m—l%ﬁmmamm—l ‘
an%:ﬁwmﬁﬁ%mmnm%mﬁﬁmﬁ | AL

e mark will be gegq
each incorrect answer, Zero mark will be awarde educted for
question. d for_each Unattempted

TR W 3 (@) G b T Ty | ‘
Mfﬁaﬂmmwmvﬁﬁmfmﬁﬁm%m%
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(i) If more than one alternative answers seem to be approximate to the
correct answer, choose the closest one.

gﬁwﬁméﬁmmﬂﬁw%ﬁmmﬁ,ﬁmaﬁm

]

(iii)Each question is followed by Four alternative answers (1), (2), (3) and
(4). One of these answers is correct. Select the correct and record it

against the relevant question in the ANSWER-SHEET by darkening the
circle with Ball Point Pen as per guidelines.

I T % TR A S g T £ R (1), (2), @) T (@) FEA
3 e T 2 | D et o A W ¥ 1 e I g o S e
) T T ¥ At w3 A Friangan sfia g () i ar
@TEvZ U7 g HIEA Fh U |

SECTION-I
wus-1
[. Ozone depletion takes place in which layer of atmosphere ?

(1) Mesosphere (2) Stratosphere | (3) Troposphere  (4) Thermosphere

mww%mq{aﬁﬁm%?
(1) REUEd (2) aqEvEE  (3) EETed (4) qHUSH

5. What does mainly induce global warming ?

(1) Volcanic eruptions (2) Insolation

(3) Plates collision (4) Human activities

WWW:WWW@W%?

(1) et 3T s
(3) <iE T (4)mi§

(Continued)
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3. Coliform count is associated with which of the following ?
(1) Bacteria (2) Virus (3) Fungi (4) Worm
HICAH 0T 1 Fraey Fafifga § @ formd & 7
(1) shemy (2) formy (3) % (4) $4
4. Which is not a primary air pollutant ?
(1) Carbondioxide (2) Nitric acid (3) Sulphuroxide (4) Hydrocarbon
ot 4 4 4 mofes ary veve 7412 2
()FE SRAMEE (2) MRwoma  (3) weow sitwaree (4) TSP
3. Which of the following is not the consequence of temperature rige 2
(1) Icecap melting (2) Sea level rise
(3) Increase in agricultural productiopn (4) Habitat change
ﬁw%ﬁaaﬁﬁaﬁqmmmq&mtr&wmqﬁ% ?
(1) fewesg mem (2) 9% 71 Jeum
(3) B e # wgiwt (4) 3w e
6. Where does the thermal pollution initially take place ?

(1) Ocean ) Sea (%) River (4) Pogg

{2

(Turn Over)
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it euw ST ¥ @ FE B @ 7
(1) wETErR (2) @ (3) * (4) T

T Wht?n did India enter into the second stage of demographic transition ?
it e Y gal ey § wra 3 e Ay R 7

(1) 1901 (2) 1911 (3) 1921 (4) 1931

8. At the end of 20th century, which of the following countries had highest popula-
tion growth ?

(1) Yemen (2) Bangladesh (3) Somalia (4) Liberia
Mmﬂ%mﬁﬁﬁmﬁﬂﬂmqﬁmﬁmﬁ ?
(2) ared (3) EeTfern (4) SrEatEn

(1) =4
9, [nwhich continent the HIV/AIDS epidemics has pushed up death rates ?
(1) Africa (2) South America (3) Oceania (4) North America

&muﬂ@“ﬁ@mﬁm/wmﬁﬁaﬁﬁﬁmﬁﬁ% ?
(1) SR (2) afch s (3) St (4) 3t ST

{0.Which State of India recorded highest decadal growth of population during
_Whic

5001-2011 7
1) Kerald (2) Goa (3) Meghalaya (4) Arunachal Pradesh
() Ke

(Continued)
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2001-2011 & 3 WA & @ Usa 3 gk Ioraw SHEE gig g Ren ?
(1) = (2) Men (3) N (4) FETEA WU

11.Cocoa, a basic ingredient in modern confectionary, is obtained from a tree of
which region ?

(1) Temperate (2) Tropical (3) Mediterranean (4) Sub-polar
Hlhl, wgﬁmﬁunﬁwmﬁm,ﬁméa%mmwﬁm@m% ?
(1) sfiden (2) wmifa  (3)uemant  (4) S9-ge

12.Terra roxa soil of Brazil is the best for which of the following ?
(1) Tea (2) Coffee (3) Cocoa (4) Sugarcane
ATsii 1 2u-tran gk freafafiga # 4 fre & fo watam &
(1) 91 (2) FH (3) F (4)
13.Which of the following is not a maize type ?

(1) Dent (2) Pop (3) Waxy (4) Crown
frfefigs o & o w5 w1 vern @ 2 -

(1) &= (2) 919 (3) duht 4)
14.Mark the odd out of the followjng -
(2 Coconut e
() Dags. - & ! Fig (%) Banan
(5)

(Turn Over)
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fefafaa ¥ & smw g

(1) X (2) TfEa (3) 3t
15. Which of the following is highly rich in gluten ?

(1) Rice (2) Tapioca (3) Com

Pl & @ 9 9= oA aeT A 7

(1) @mad (2) et (3) "eA
16.Nebular hypothesis was proposed by whom ?

(1) Laplace (2) Halley (3) Encke

Pt aereal Fed saa@ b ?

(1) T (2) & (3) &

{7. Which of the following pair of planets have no satellite ?

(1) Venus & Mercury (2) Venus & Earth

(3) Mercury & Mars (4) Mars & Venus

Eeriferfa TR 68 TS N IR TG 8 7

(1) T T T (2) Th @ Il
: o (4) " W

(3)gg @ T -

(6)

(4) e

(4) Wheat

(4) 5,

(4) Gaul

(4) i

(Continued)
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18.1f the earth's equatorial radius is 6378.137 km, which of the following has

lesser radius than it ?

(1) Venus (2) Neptune (3) Uranus

(4) Saturn

afe geat Y s 6378.137 feralt &, Fmferfian of & foraehl e get A 2 7

(1) T (2) @ (3) 3w
19. thnl is our earth nearest to the sun ?
(1) 3rdJanuary ~ (2) 14thJanuary  (3) 4th July
9 e g & oty B 2 7
(1) 3 sHat (2) 14 et (3) 4 o
20.Ganymede is a satellite of which planet ?

(1) Jupiter (2) Neptune (3) Mercury

(1) Feefa (2) T (3) gu

21.Albedo of the earth has to do with what ?

(1) Radiation (2) Diffusion (3) Dispersion
9o % "ot 1wy fred @ o
(1) fafwm (2) forwm (3) SEvf

(7)

(4) ol

(4) 14th June

(4) 14

(4) Saturn

(4) uf

(4) Reﬂection

(%) Tty

(Turn Over)
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22.Pattern of wind in a cyclone in northern hemisphere is :

(1) Clockwise (2) Anti-clockwise

(3) Both of the above {4) Unclear

Fwll Tivend & ATy el 6 fewm A R

(1) o) it g Fi fen o (2) 91 % g8 & fem & faudia
(3) 3 gFA (4) ¥

23.Willey-willies are tropical storms of :
(1) Australia (2) Brazil (3) China | (4) Canada

ﬁ?ﬁ-_ﬁ?ﬁﬁmi‘mwmmﬁmﬂww% ?

() s (2) TV (3) (4) TSI
24. Tornadocs generally occur in:
(1) High latitudes '~ (2) Low latitudes
(3) Middle Jatitudes (4) All of the above
o) T FE 5 TE?
(1) 7 SER (2) ot e
(3) me HEH (4) T T

(Continued)
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25.The traditional Indian season known as 'Shishir’ falls in which month ?
(1) October-November | (2) November-December
(3) December-January - (4) January-February
T e dem R 67 o ofems @ 2
(1) R - (2) Tava-fewman
(3) femar-wmatt (4) FAatt-wrarlh
26.What is the raw material of muslin ?
(1) Wool (2) Cotton (3) Silk (4) Jute
el 1 H=l A 71 qen R 7
(1) 3 (2) # (3) &m OF

27. Where is Monazite sand mainly found in India ?

(1) Kerala coast (2) Chotanagpur plateay,
(3) Gangeticdelta (4) Thar desert
YRA § J&a: AATTEE inqmsf R ST R 7
(1) ¥ 72 (2) BT Y31
(3) T A (4) oR Fram
(9)
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28.1odine, gelatine and fertilizers production use which common raw material ?
(1) Guano (2) Fish (3) Reef (4) Seaweed
aﬁﬁm,&%&:ﬁ:m%mﬁﬁmﬁmmwﬁﬂmﬂﬁ%mm% ?

(1) T (2) e (3) fufa OEisREN

29.Coking coal is a variety of which of the following ?

(1) Anthracite (2) Bituminous (3) Lignite (4) Peat
Ffe Frae Frfalad § feas yer e ?
(1) TadiRe (2) Tocafee (3) fmme (4) 9

30. What is the source of 'Propane’ gas ?

(1) Petroleum (2) Coal (3) Biomass (4) Water

i s AR F e 7

(1) Yt (2) el (3) SR (4) 9

V. sets for Rs. 2,400 each gaining 20% on one set and lossing

31.1fa dealer sold two T
loss or gain percentage in this transaction is :

2(0% on other set, then

(1) 40/0 lOSS (2) 4% gain (3) 20/0 gain (4) 20/ 0 1035

(Confimmd )

(10)



16U/113/24

T A1 forshan & &t ¥ 5w ) 2,400 5, F Far 2 Iﬂﬁ@@zwzd%ammn
A W 20% N TR AR 2, A 38 R F @ Ho w™ A AR e F
it :

-

(1) &f 4% (2) @™ 4% (3) &9 2% (4) & 2%

32.Rohan's mother is 26 years older than him. If the product of their ages 3 years
from now will be 360, then the Rohan present ageis:

(1) 7 years (2) 9years (3) 10 years (4) 13 years

e h v < 3@ 3w 26 3¢ afrer | 2R g A 3 ¥ 915 < i ATy 1 [T
360 3 &, A Vg Y T oy 2 ;

(1) 73 (2) 999 (3) 10 a (4) 13 7

33.300 apples are distributed equally among a certain number of students. Had there

been 10 more students, each would have received one apple less, then number of
students is :

ﬁﬁ%ﬁﬁ@l%@ﬁﬁ%ﬂﬂﬁaﬁmm% 191 10 B i 819 & v w9
& T T F9 I B | BT ht Rfvem sem e 2 7

(1) 60 (2) 50 (3) 45 (4) 55

34.Sohan save 14% of his salary while George save 22%.
and George save Rs. 1,540, then saving of Sohan is :
dIgd M I Al 14%mm%mmmammz%m
M guM 4 T F & 3 ol ) ag e 46403, 3 1 e

Ifboth get the same salary

g | fe
TR,

(1) 9007 @ 1000 (350,
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35.The simple interest on a certain sum of money for 3 years is Rs. 225 and com-
pound interest on the same sum of money hence at the same rate for 2 years is
Rs. 153. The rate of interest on the sum of money is :

Rl R o T R ST SR 3 i R A 225 773 & au I weRIiY W
g@ﬂwa@ 2 asi & wHglG S 153 70 & A Jm vl W SR ST 3

(1) 1% (2) 2% (3) 3% (4) 4%
36.1f triangle ABC is aright angle at B, given that AB=9 cm, AC=15cmand D, Eare

mid points of AB and AC respectively, then area of triangle ADE is

27
(1) 60 cm? (2) 54 cm? (3) 27 cm? 4) - om’

aft ABC Fv T B0 @il R | AB=9 QM AC=158H,aM D 31t E #H:
AB e AC ¥ e g &, @ By ADE &1 8% 8 :

27
(1) 60 a2 (2) 54 AH (3) 27812 45 g.H.?

37.A train travels a distance of 300 km ata constant speed. If the speed of train is
increased by 5 kman hour, the journey would have taken 2 hours less. The ori ginal

speed of train is :
(1) 35 km/hr (2) 30 km/hr (3) 25 km/hr (4) 20 km/hr

e et 300 fRAl, e @ T & F ] | a2 Yermet 1wl S R A
of 671 a1 & I @ I 'aﬂ%mwﬁilmﬂmﬁﬁw%: '

(1) 35 fpad./E (D) sofed ua  (3) 25 A, [w (4) 20 & 30, /o

ars ago Varun's age was five times the square of Swati age. Three years

.Seven ¥¢ . ; )
3 E:::z . gwatj age will be two fifth of Varun's age. The Swati present age is .
(1) g years (2) 2 Yems (3) 6 years (4) 9 years
(Continued)
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L B R R S SR Gy [ et g i S S P S
% 30 6 2/5 T Beft, A e A adam g R
(1) 8= (2) 2= (3)6d (4) 9w
39.4 takes 6 days less than the time takén by B to finish a piece of work. If 4 étndB

together can finish it in 4 days, then the time taken by 4 alone to finish the work
1S

(1) 6days (2) 12 days (3) 8days (4) 10 days

ATl & R B 6 7 o o A [ w2 1 aR 4 3tk BAAT Prera 36 I )
4127 3 70 F4 &, T 3 4 B 36 B g0 w3 F o v @«

(1) 6% 2) 124 - (3) 8 (4) 10f&=

40.The mean weight of class of 35 students is 45 kg. If the weight of teacher be
included the mean weight increased by 500 gm. The weight of teacher is -

(1) 60kg . (2) 6lkg (3) 62kg (4) 63 kg

T 41 % 35 95 3 fjwa W 45 e, @ iﬁ@mmwwﬁﬁaaaﬁ
H%WﬁSOUWﬁﬁmﬂ‘Wleﬂﬂmi: -

(1) 60, 2) 61fea (3) 62fkm, (4) 63 5.

41.Two dice are rolled simultaneously. The probability that th ]
Sialgy €y show different

GRICRCR k) O lmﬁ%aﬁmw-mﬁﬁmﬁmg,
W 3 ok OF O
6

13
[ ) (Tﬂrn Over)
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42.In a class of 60 students 30 opted for NCC, 32 opted for NSS and 24 opted for
both NCC and NSS. If one of these students is selected at random, the probability

of the student has o_pted NSS but not NCCis:
o e 35 60 I 3 8 30 @6 T NCC fofan, 32 9H1 3 NSS 741 24 871 3 NCC 7

NSS g fere & Iﬂﬁﬁ%ﬁwﬁ@wwwﬁmm%a’lmw#gﬁm
St NSS R 2 femg NCC 75 2 - ‘ |

1 8 i 2
M 35 @) 1 B Ok

43.A man repays a loan of Rs. 3,250 by paying Rs. 20 in the first month and then

increases the payment by Rs. 15 every month. The time taken by him to clear the
loan is : :

(1) 20months ~ (2) 16 months (3) 18 months (4) 22 months

T IneHl TR 3,2505,%m®m$ﬁ$muaﬂﬂs‘ﬁﬁ ZOﬁ,Waﬁm@m
qER & 15 %, 6 agreat 0 e F | 36 g R F9 H) T FW § W 7

(1) 20 =& (2) 16 7€+ Ne 18 wEi (4) 22 7&A

parts by horizontal plane passing through the mid-poin!

44.If a cone is cut into two |
e volumes of the upper part and the cone 1s :

' 5. The ratio of th N
(;gt;;)%@;%m%mﬁsmﬂmmm St S Q) W H
- ) Y A Y % A 1 S
(1) 1:2 (2) 1:4 (3) 1:6 4) 1:8
45.The arteries which supply blood to heartis :
(1) Putmona” arteries (2) Hepatic arteries
(3) Coronary arteries (4) Carotid arteries

(1 4) (Ci ontinued)
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vl S 55 F T A i Fa R
(1) gopa e (2) 70 i
(3) b et (4) sfe

46. The Ozone layer (O,) in the earth atmosphere :
(1) Cause less entrance of ultra violet radiance
(2) Control the level of oxygen
(3) Convert COinto CO,

(4) Responsible for the air pollution
qzaﬁ%mgumﬁmﬁaaﬁ‘&hﬂwwj):
(1) Tt foron & Y39 Y w9 s |
(2) et <t wrn ) fafya s )

(3) CO®I CO, ¥ whafia & 2 |

(4) a1 gV & forg Iemgrh € |

47. Which gas was leaked in Bhopal gas tragedy ?

(1) Carbon monoxide (2) Ethyl isocyanate
(3) Methyl isocyanate (4) SO, - No,
e
(15)

(Turn Over)
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whorer gadn 3 fea e =1 foama gon o 7

(1) T NS (2) 3UTRS AREERE
(3) firemset aMgERETEAR (4) SO,7 NO,
48. The life span of a human RBC is
(1) Onc day (2) One week
(3) One month (4) Four months

o wAe A A, am R

(1) o fm (2) T THTE
(3) @& wE (@)
49.Who is known as father of ECG ?
(1) Einthoven (2) Cuvier (3) Hedwig (4) Francis Galton
minR SRaE s amamd 7
(1) ¥ (2) (3) Fefm (4) swiftr e
a'stands for :

50.0RS, which is used for the treatment of Diarrhoe

(1) Oral Recharging Solution (2) Oral Reducingsmgﬁon

(3) Oral Replenishing Solution (4) Oral Rehydration Salt

(16) (Cominued)
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ORS o 70 ¥ o % Ry Fr o R ag d:

(1) s fefle W ""-(2')%@3%“@
'(3)aﬁuaitt€t_'ﬁ1ﬁnaam | (4)aﬂuaﬁarsamm
~ 51.A person whose blood group i A'B- can donate blood to-a person with blood
group :
) A @B @A (4) All of these

s R AB T W 5 61 0 a1 7w
my @@ NN (4) ¥ A mht

52.Digestion of which component of the food is likely to be most adversely affected
if the pH of the stonach is made 7 (neutral) ?

(1) Sach @ P OUd () Sugrage

MWWpH 7(?1;3)@@13‘1%%%«@

s #9 & e 8 A a2 . T
@ e DL
53.In an adilt human behlg; the number of vertebrae is -
w e 2 A, FAH R g 3
1) 3 () 26 (3)36 @
(17) |

(Turn Over)
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' 54.The centre for DNA fingerprinting and diagnosis (CDFD) is located at :

(1) Hyderabad (25 NewDelhi  (3) Calcutta.. 4) Mt;rnbai
DNA femfifen i frgm 3 fore 5, (8 8.0.2,) el feara &

(1) T (2) W# i (3) el (4) g7

§5. | hie number of spinal nerves in manis :

(1) 11 pairs () 25 pairs (3)31pais ()37 pairs
g i 0 0
(1) 11973 (2) 253[3. (3)'316113 (4) 3730g
56.Cloves are obtained from: |
(1)Leaf (2) Root (3) Fruit (4) Dried flower bud
< el & T FA B
()T (298 (3) B (M@‘t‘v’iwﬂ
57, Penicillin is obtained from
(1) Aspe‘f@m"s fumig»t (2) Penicillium chrysogenum

(4) Streptornyces griseus

.

(3) penicillium griscorulrum

(18) ((_.rm!inued\
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At s Bk R - |

(1) sreamfrer v (2) dffaferam wrgarSm

(3) 3ffeferrm arsRehigerm (4) Bmras mrEem
58. Ta;conomy is a branch of science which deals with .

(1) classification of all living organisms

(2) classification of plants

(3) identification, nomenclature and classiﬁﬁ:ation qf all living organisms

(4) structures and functions of living organims

et e i o v & < fir 3 & R i & 7

(1) @t i it i @ B

(2) it & it %

(3)@1:,@ aﬁwrﬁafrférasﬁa’iaaarmufa

(4) Sffer et 3 a7 aft vt @ |
59, Typhoid is caused by :

(1) Gairdia (2) Salmonella  (3) Shigella @) ESChericﬁ‘
1a

TRGIEE T 2 ;

(1) R (2) aediyen (3) Reren %) wt

19
( ) (Turn Over)
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60. Hormones are useful for :

(1) metabolic functions ~ (2) digestion and reproduction
(3) producin-g energy (A_t) preventing disease |
gni Fra fe swh @R § ¢ |
Ripuneneps R (2) T 3 o
(3) FearEA FA - (4) iﬂﬂTﬂ =l
61.Which of the following is most _impl.orfant_for the growth of children up to the
~ age of 14?7 o :
(1) Protein ~ (2) Vitamin (3) Fat (4) Milk

feda 14ﬁﬁmw%ﬁ%m%mmmﬂﬁ%:'

(1) SR (2) feerfm BROE (4)
62. Chicken pox is caused by : |
(M Vaﬁceilavirﬂs (2) Adeno virus ]
(3) Bacteriophage T2 (4) S.V. 40 virus
f%a‘-r T R -
(1) aferet TEE (2) T TEE
(3) dfeaie A2 (4 @A, 40 T

(20) (Conrinued)
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16U/113/24

(&) Vins

(4) g

- (4) Bacteria

(4) d=Afan

(1) Flesh (2) Moss (3) Fungus
R o e 1 Rl SRRy 35 g R 7
M @ dw )% |
64.Whatis Mushroom ? - 1 |
() Fugs @) Pt () Auimal
Wmé 7 B
(1) %% (2) S )7y
65.Which of the followmg local taxes qonsntute the sources of revenue for
municipal bodies ?
() Propertytax  (2) Octroi  (3) Animal tax

Select the correct answer from the following : |

(11,2, 3 are correct (2) 2, 3, 4 are correct

(3) 1,3, 4 are correct (4) All are correct

(4) Wealth tax

am%ﬁaamﬂumﬁﬁa}wﬁmﬁ%wqﬁmmmé

(1) wefet R (o] &) (2) $ft (s
'(E)WW(‘@W}’-W) | (4)%*{(3@‘2@)
(21)
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Prifeifiga 3 & 98 I v A
(1)1,2,33% R 2)2,3,43% R
(3)1,3,4 3% 2 (4) @ i 2
66. Which one of the following is the largest Committee of the Parliament ?
(1) The Committee on Public Accounts
(2) The Committee on Fstimates
(3) The Committee on Public Undertakings
(4) The Committee on Petitions
e 1w wE A R
(1) F A wecTeh ThRH
(2) e i R
(3) i 3 e TSI
(i i
67. Who was the first Governor General and Viceroy of India ? |
(1) Lord Hastings (2) LordCamning  (3) LordMinto  (4) Lord Curzon

(1) wé ¥R (2) W Him (3) e (4) TS FH

(22) B _ | (Continued)
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68.British Governor General who introduced first Postal System in India was :
(1) Lord Dalhousie (2) Lord Wellesley (3)LordAcland  (4) Lord Bentick
mﬁmmwmm%ﬁmﬂaﬁmﬁm ?
(I) TRt (2) vadet ) A aiels (4) AR ART
69. Arrange the following Sikh Gurus in the colrrect chronological order :
(1) Nanakdeb, Ramdas, Amardas, Angadeb
(2) Tegbahadur, Ramdas, Arjundeb, Gobind Singh
(3) Guru Nanak, Angadeb, Arjundeb, Amardas
(4) Amardas, Ramdas, Arjundeb, Tegbahadur
Pttt 3 3 R 1oait 31wl <hreem s
(1) THhCT, AT, TG, S
- () Ay, T, s, T i
(3) T 775, i, s, s
(4) ST, T, v, vy

70. Who among the following were the

Constitution ? membetsiot the Drafting Commitgee of the

(1) K. M. Munsh (2) Jawahar Lal Nehru
(3) Alladi Krishnaswami (4) Sardar Pate|

23
(_ ) ( Tl(ﬁ? ()1:(4;']
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Chioose correct option :
()1,3and4 (2) 1and4
31,3 | - (4)2,3and 4

e & 2 2k e ey ek e R e 2

)& @, gt - (2) SATEETS EE
(3) IR Forarit (4) TG 9
T .
(1)1,334 2) 194
| (3)1a3 . (4)2,334

71. During which one of the following situations does the Vice-President of India

discharges the functions of the President ?

(1) When the President falls ill

(2) When the President vacates office -

(3) When the PreSidpnt dies |

(4) When the P;esidcnt has been suspended
Choose the correct option :

(11,24 () 2,3,
3)L23 @)1,3,4

(24) (Continued)
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e 35 SRy P 3 @ it e ool 3 et 3 el a1 e o € 7
(1) 5= Tgfa sfim 8 § |
(2)&3{1@%*1%1’@5‘@31‘«1_%
(3) & Tgald 5o B I 2 ‘_
(4) 5@ Tpufd ol Mo A AT R
e ———
W4 @2,3,4
(3)1,2,3 4)1,3,4
72.Which one of the following dances involves solo performance 2
‘(1) Bharatnatyam (2) Kuchipudi_ ~ (3) Kathak (4) Odissi
Frfefias % = @ o g & 7
() e ) I (3) 9 G)M

“13.The oldest form of composition of the Hindustani vocal music is :

(1)Qhaza] (2) Dhrupad (3) Thumei 4) None of these

gt T i B B vy ey ey ?:

O Qg () gud 4) ¥ 3 33 g
(25) |

(Tw‘n (}ver)
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I

74.Who amongst the following is called the Liberator of the Indian Press ?

(1) Macaulay (2) Metcalfe (3) Rippon (4) Irwin
Rrrforfaa & & B st Y w1 AT T R
(1) dem (2) e (3) fra - (4) Fm

75.Who was the Viceroy of India when the Indian National Congress was formed ?

(1) Lord Ripon (2) Lord Northbrooke

(3) Lord Dufterin (4) Lord Lansdowne

(1) @ R (2) e i
By (4) i T
76.Lord Ripon was associated with
(1) removal of Vernacular Press Act

(2) resolution for institution of local-self government

) enacmlem of the First Factory Act

3
(4) all of the above.

(Continued)

(26)
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ard fro foradl weiftra 9 7
(1)Wﬁaﬁ%mé

. (2) v e ) S g R
(3) o el e T A
(4) 390 asfh

77.What is the correct chronological sequence for the foIlowmg Mughal
Emperors ? .

() AkbarIl (i) Alamgir-IT
(iii) Bahadur Shah-II " (iv) ShahAlam-II
(1) idi, £, dv, i (2) ii, i, i, iv

(3) ii, iv, i, iii (4) iv, iii, il i

Frferfan gt womel % e wdt Femivs w2 @ 7

(i) LIl (i) Fremrfrn

(dif) Seteg me-L1 (iv) 9 -]

(1) iii, i, iv, ii Q)i i, i iv

(3) H, fv, f, il _ (4) i, iil, i, i
(27)
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78. Which of the following are a Directive Principle of State Policy ?
(1) Equal pay for equal work for men and women
(2) Equal right to an adequate means of livelihood
(3) Abolition of untouchability
(4)] qst and human condition of work
Choose the correct option :
(1 1,2,3,4 (2)1,2,4
(3) i, 2,3 | (4) Only 3

B & @ 8 a1 T A & o i g (g@ﬁﬁﬁﬁgﬂsﬁmé‘dmﬁ@)% 7

(1) st aﬂtmaﬁﬁamwmﬁ%mmm
(Q)W%mwmﬁmmwm |

(3)3@1@6’1@3’@:‘
(4)@35%@136111@%%

it foed |
s>t @124
51,03 (@) FE3

(28) (Continued)
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79.1n terms of the election laws in India, electioneering ceases in a-éonstituency
at least
(1)12 hours_before the commencement of polling
(2) 24 hours before the commencement of polling
_(3) 36 hours befo_ré the commencement of the polling

(4) 48 hours before the closing hour of polling

W 3 G FH % =i o frate a3 e o @ o Rl 99 i o
R R 7

(1) 7aqH & SR &M § 12 8¢ @
(2) 7aTR % AN B @ 24 52 @@
(3) HARH & YRY B A 36 @ o
(4) 7oA & 92 B F W A 48 @
80. Who established Nalanda University ?
(1) Skandagupta  (2) Kumargupta ~ (3) Chandragupta-ll (4 Samudragupta
T fvafaene™ € v Ry 4 7

(1) @< (2) Tovam (3) FR-1I

(29)
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81.From where 'Great Bath' of the Indus culture discovered ?

(1) Rangpur (2) Mohenjodaro (3) Harappa (4) Dholavira
iy Tl B TGS Hal @ T ?
(1) T (2) WrEAseEl (3) & (4) Herha

82. Which art was patronaged by Kanishka ?

(1) Mathura Art (2) Mauryan Art

(3) Gandhara Art (4) Mathura and Gandhara Ast

Fier 3 frg e o v faan ?
(1) 5 ell (2)qﬁm'
(3) e el | (4) W0 T U e

83. Which is the earliest known civilization of India ?
q .
(1) Ganga valley civilization (2) Indus valley civilization

(3) Brahmaputra valley civilization ~ (4) Mahanadi valley civilization

W@mmu@?mﬂqlﬁﬁg ?
(i € Tl
(3) g T E (e AT

(30) (Conrinued)
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84.In which yearAjanta caves was discovered ?

IS 6! 6 G o o F o oft 7

(1) 1819 () 1824 (3) 1821 (4) 1817
85.Which was the main seaport of Cholas ?

(1) Kaveripattanam (2) Muzaris

(3) Korkai (4) Silapatigaram

el 1 4G WHEAT B A7

L s (2) gt

(3) Wt () e

86. Which of the followin g academies is responsible for fostering the development
of dance, drama and music in Indja ? =

(1) National School of drama ., (2) Sangeet Academy
(3) Sahitya Academy (4) Lalit Kala Academy

Wﬂﬁ%mqmmﬁﬁ,mﬁmﬁwﬁmﬁmmm
37 - |

(1) et g 1% g () o
(3) wrfees wwrsh (4) S wen wi
(31)
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87.Which folk dance is associated from Gujrat ?
(1) Nautanki (2) Kathakali (3) Garba  (4) Bhangra
A T AHge 1 FaY R 8 R 7

() AR (2) FuHA (3) e (4) Wi

88. The most famous court poet of Akbar waé ?
(1) Raskhan (2) Surdas
(3) Amir Khusaro (4) Abdul Rahim Khan Khana
T TR R g ﬂq a1 ?
(1) v @
(3) anfit @@ | (4) 37T T W T

89, Which king adopt_éd epithet of Vikfamadit_ya ?
(1) Chandragupial (2) Chandragupta [l (3) Samudragupta ~ (4) Kumargupta

~.

(2) F%m 1l (3) FHT - (4) T

(Conti nued)
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90. Todar Mal was associated with :

(1) Law (2) Music

(3) Literature (4) Land revenue reforms
et 1 wag @

(1) =3 & (2) &fta &

(3) wieew 4 (4) yf¥r T guw @

91.Mohan consistently run 515 metres every day. In how many days will he run
8.24 kms. ?

o wiafeA 515 e e # | fred R i 7w 8.24 Reh A

(1) 14 (2) 16 (3)18 (4) 24

92. What is the script of the Indus Civilization ?

(1) Phonetic  ~ (2) Alphabetical  (3) Indicative (4) Pictograph
Ry Wz ) ol T 2 7
(1) = reas (_2) HEcAH (3) whaTn= 4) faran

93.'Swaraj is my birth right and ] shall have it.’ This was advocateq by :

(1) Sardar Patet (2) LalaLajpat Raj
(3) Mahatma Gandhi (4) Lokmanya Tijak
(33)

(Turn Over)
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S i Ffirg AR @ 3T g qE S A | gEeh e 6
(1) oen 9es g (2) ATl AT T g
(3) werem et gra (4) A= faers gr
94, Tipu Sultan was the ruler of :
(1) Madurai (2) Vijayanagar (3) Mysore (4) Hyderabad

&1 Hoa HEl D A1 ¢
(1) T = (@) Gemmmw (3) A FH (4) BEUETR

95. Article 17 of the Constitution :
(1) Protects individual freedom
(2) Grants right to equality -

(3) Grants right to constitutional remedies
(4) Abolishes untouchability

A 1 oo 17

(1) Fater el B T T R

(Continued)
(34)
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96. A session of the Lok Sabha is prorogued by :

(1) A resolution of the housé

(2) An order of the President

(3) An order of the Speaker

(4) The minister of Parliamentary affairs
A R o wfive o S R
(1) He & gehed g |

(2) Tgafe & e gy

(3) reaE % A g

(4) @adE & Wl g

97.How many members can be nominated to the Rajya Sabha b
] Y the Pres;
wmmw%mﬁmﬁmnﬁaﬁmmHﬁt ? resident?

(1) 12 (2) 10 (3) 8 ny
98.NNP is equal to :
(1) GNP + Exports (2) GNP —Exports
(3) GNP + Depreciation (4) GNr — Deprecia,
(35)

(C'O"finued}
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™ T 0 e g R
(1) sft @ dt + fafq RN 1
RIEIRCRIRS P e

99. NAFED is connected with

(1) Environment protection measures (2) Rural housing

(3) Agricultural marketing - (4) Farmers credit cooperative

Thg wafyd @

(1)qzﬁamtﬁmmﬁ (g)mm_g

(3) i faom @ (4) Fh T HEhI A

100.The Hindustan Shipyard Limited is located at :

(1) Goa (2) Mumbai (3) Visakhapatnam (4) Cochin
g fir R o & 7 |

(1) men ¥ (2) T W (3) RemEgH §  (4) R A

resumatmg the fixed prlce on Gross Domestic Products (GDP) in India, the

%-.
(1)1999-2000 (2)2000-2001  (3) 2002-2003 (4) 2006-2007

(36) (Continued)
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102. By which amendment of constitution constitution of a separate National
Commission for scheduled tribes was provided for :

afear % forw wwem gro srgfem sAefl % g ©s 9o T o & e @
yraaH fa g ?

(1) 843 (84 th) (2) 85af (85th)  (3)89af (89th)  (4) 92af (92 nd)

103. Which of the following is not a union territory ?

(1) Pondicherry (2) Mizoram

(3) Daman and Diu (4) Dadra and Nugar Haveli
Frafefaa ¥ ¥ SR-w qu wie Re @R ?

(1) gifsadt (2) foeim

(3)gm a fiyg (4) et 3 TR TR

104. In India 'Swabhiman Yojna' is related to :

(1) Therights of villagewomen  (2) Taking care of the old people of villages

(3) The banking of villages (4) The food preservation of viltages
Ra A g i 7é Tl G e watie R 7
(1) awdior wfgen il @ (2) Tt g ) e @
(3) wmfor 3 @ (4) 7ftor T R @
103. Elhrzl’gefvtlmng istitution deals with granting loans for Agricultyre and
(1) IDBI (2) NABARD
(3) SDBY @

(37)
(Turn Over)
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gﬂﬁﬁﬁﬁﬁﬁq—ﬁmgﬁ@mm%%ﬁmﬁmﬁﬁwﬁm
?
(1) 38,2, 38, (2) AraTe
(3) T, 3178, 1,0, 31T, (4) i &t e T,
106. In which the following State, the per capita income is highest ?
(1) Goa (2) Punjab /(3) Maharastra (4) Gujrat

ﬁmﬁﬁﬁmm#wﬁfaﬁﬁmaﬁa&m%?

(1) M (2) TE (3) HERTY (4) o
107.1n a code FORM is written ERQP. In the same code how CLEAN will be

written ? '

(1) BODDM (2) BOFDO (3) GKHBQ (4) GMKBQ

o @re § FORM #I ERQP forar wm ¥ | S WS CLEAN #t && feran

S ?

(1) BODDM (2) BOFDO ~ (3) GKHBQ (4) GMKBQ

108. 1f —means x» X means +,+ means +, + means - then what will be the value of
14_,‘0)(4--16§'8 ?
v A E A s, - FIEE @ [4-10x416+8

Ife - a1 % Xy ¥

#1 3 a1 &m 7

(1) 134 (2) 142 (3) 168 (4) 180
((Iontinued}

(38)
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109.1f TEN is coded 256 and SIXTY 19827, then in the same language how
SIXTEEN would be coded ? _
afq TEN 1 256 & a1 SIXTY & 19827 @ whdag fear 9 at 3&t wmer 4§
SIXTEEN %l %8 Hehdag ®al ?

(1) 1982556  (2) 1965255 (3) 1963225 (4) 1963556

110. Choose the correct alternative :
Moon : Satellite :: Earth : ?

(1) Solar System (2) Asteroid (3) Sun (4) Planet

a8 fahey _g’ﬁ'a :

TGHI : IWE :: YeAlt 7

(DErmea  (2) ufe (3) 4 (4) 78
111. Choose the correct number to replace question mark :

Szl et ? '

e Tore 1 S wdl o o g |

3:1le7;? -

(1) 51 . (2)29 (322 4) 18

112. Amansaidtoa lady, "Your mother's husband'e-sietas. ia my aunt,' How js the lady

related to the man ?
(1) Mother . (2) Davghter
(3) Sister 4) Gfﬂfld_daughtEr

L) (Turn Over)
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T el 3 U ufgen ¥ e, mﬁmﬁsqﬁﬁmﬁﬁgwél 39 Hige &1
mmﬁ%mm%?

(1) Hra (2) TH
(3) =& (4) T

113. X and Y are brothers. M and N are sisters. X's son is N's brother. How is ¥
relatedto M ?

(1) Father (2) Brother
(3) Grand father (4) Uncle

ot yurs ¥ | Mo NaE § | X S NEMER | YR M Fm R 7
(1) frn (2) wr§
(3) 7@ @

Directions (Questions 114_-}115) :

114. In each of the following questions, find the number of traingles in the given

e gﬁﬁﬁﬁmﬁﬁqmﬁaﬁﬁw}ﬁﬁw%:

(1) 4 (2)5 (3)6 4) 7

(40) (Continued)
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118.

(1) 11 ) 13 @15 4) 17
116. If '< means ‘minus', >' means ‘plus’, '=' means 'multiplied by' and '$' means
'divided by’, then what would be the value 0r27 > 81 $9 <67

AW <" AT YA, > e < SR, = qqerd U7 791 'S Aqerd TR w0 &
3 i 27 > 81 $ 9 < 6 71 77 Bvm

(1)33 (2) 36 3) 54 (4) None of these

117. Mouse is related to Cat, in the same way Fly is related to

(1) Spider (2) Rat (3) Horse (4) Animal
ﬁméﬁﬁﬁiﬁiﬁﬂ,wmmmﬁ‘é——ﬁ:
(1) 5l Q) m (3) g (4) Sy

118. If '+ stands for 'division', ' -.' stands for 'multiplication’, 'x* standg for'Subtrg
tion' and ' stands for ‘addition’, which one of the foltowing is Correct 9 -

R 4 Rz, o i, o
R Sowy wld 7 T R & T St &,

DIB26x7+5-2=72 +7.

() . (2)18)(6 7.__5__2§l6

3)18+6—-T+5x2=20 (4)18+6+7><5-2=18
(41)

(Turn Over)
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119. Rajan is sixth from the left end and Vinay is tenth from the right end in a row of

boys. If there are eight boys between Rajan and Vinay, how many boys are there
in the row 7

Wﬁﬁﬁﬁm%aﬁwa@ﬁﬁﬁdﬁﬁﬁﬁﬁﬂ%mﬁwm% !

Wﬁxﬁm%ﬁaﬁqﬁm?@%%,aﬁﬁﬁﬁgﬁﬁﬁiﬂ?ﬁ% ?

(1)23 (2) 24 (3) 25 (4) 26
120. X says, 'O is my son.' O says, ' am not the son of X.' How O is relatedto X 7

(1) Grandson (2) Nephew

(3) Daughter (4) None of the above

(1)q (2) Wt
kel (4) T o & HIE T
SECTION-1I

Language — English

Note : Four alternatives are given as possible answers [0 each guestion. Give the

correct choice a8 A answer

Direction Q. No. 121-124) : Sclect the word nearest in meaning to the given

word :

121. August
(1) Common (2) Ridiculous (3) Dignified (4) Petty

(42) (Continued)
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122. Incessant
(1) Instant (2) Continuous (3 Running (4) Flying
123. Momentous
(1) Important (2) Lasting for a short time
(3) Wrong (4) Hopeless
124, Fraility
(1) Boldness (2) Weakness (3) Beauty (4)' Intelligence

Direction (Q. No. 125-128) : Choose the word which is most opposite in meaning
of the word given in bold

125. Permicious :

(1) Innocuous  (2) Healthy (3) Hygienic (4) Fine
126. Anonymous :
(I) Desperate  (2) Bxpest (3) Known (4) Writte
127. Humane :
(1) Uncivilised (2) Uncultured
(3) Unsympathetic (4) Uncompcamjsing
()

(T urn Over)
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128. Elegance :

(3) Clumsiness

(2) Indelicacy

(4) Savagery

Direction (Q. No. 129-132) : Select the correct meaning of the given idiomatic

expressions :
129. To show one's white feather :
(1) To show arrogance
(3) To seek peace
130. To rule the roast :
(1) To domineer
(3) Torunaway
131. To turn down :
(1) Reject (2) Giveup

132. To bury the hatchet :

(1) Toclash

3)To resolve {pe issues

(2) To become polite

(4) To show signs of cowardice

(2) To surrender

(4) To fight

(3) Follow (4) Throw

(2) To disqualify

4) To destroy before it blooms

(44) (Cominued)
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Direction (Q. No. 133-136) : Select the right word to {ill in the blanks in the given

sentences :
133. The earth around the sun.
(I)revolved  (2) isrevolving  (3) revolves (4) is revolved
134.1 the news an hour ago.
(1) have heard : 2) was hearing
(3) have been hearing (4) heard |

135. Savita decided to set

sometime everyday for prayers,

(1) aside (2) in (3) on (4) wp
136. It is dangerous to intrude the enemy's camp.
() in (2) into (3) on (4) through

Direction (Q. No. 137-140) : Choose the correct preposition for gach blank -

137. We will have to adjust ourselves new circumstanceg,

(1) over (2) to (3) with 4) on

138. Professor Kumnar will také —— a5 the new principal tbmorro
W,

(1) over (2) up (3) with (4) i

(45)
(T urn OVQr)
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139. He accused me not telling the truth.

(1) for (2) over (3) of (4) on
140. Call us during office hours 7334593.

(1) at (2) on (3) upon (4) in

Dircction (Q. No. 141-142) : Select the correct alternative for each blank

141.1 am studying for —— MA in History.

(1) an (2)a (3) the | (4) no article

142. Have you seen _———AgraFort?

(1)a (2) an (3) the (4) no article
Direction (Q- No- 143-144) : Select the part of speech of the underlined word in
the given sentences -
143.1s there a0y pread in the house ?

(1) adjective (2) adverb (3) conjunction  (4) determiner
144. Perhaps i will rain.

(2) adverb (3) conjunction (4) determiner

(1) adjective

o. 145-146) : Select the word which has been wrongly spelt .

Direction Q- N

45 (1) Littma\ (2) EXP“C-“ (3) LOllgl'iitk (4) Plaintiff
l . ;
46 (1) lﬂaUdible LZ) Cm“pinti”e (3) Endemic (4) Nausea
1 - ‘
(Conrinued)

(46)
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Direction (Q. No. 147-150) : Identify the part having an error :

147. (1) The father as well as (2) The sons were
(3) mysteriously missing (4) from the house
148. (1) Indiais | (2) one of the leading
(3) tea producing country (4) inthe world
149. (1) I have heard (i] stories that
(3) do not correspond (4) with this experience
150. (1) unless you do not (2) work hard
(3) you will fail (4) in the examination
. SECTION-II
gue-11
-t
zwiwgﬁ%m_“wm%wa et 3 a1 g 8 )
151. &= wfer & wmifors e &y ‘amm"%am%a)ﬁmmiw ;
(1) et ez e (2) T 7w
(3) Vg HRepIRH (4) Ty a3
(47)
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152.anﬁmmﬁwmmﬁm$ﬁmmmmm% ?

(1) %R faform Frert (2) T eftees Hard

(3) AT Sl @ (4) =t wetem

153, srferett = T viw ‘FRe-safE-vHO £ a1 fraa fomen o ?

() Mem @ ewem ()W
154, A gay R sR A TR ?

(1) FEqE (2) vt g (3) viger o
155.‘mvﬁai’ﬁwm’“3?

(1) I (2) wierE (3) e
156, ey A R B

e ()T (3) 38 F
17, e 1 e o G A

(1) 5 (2) R (3) futorem
15&@3%@@%8@%%@%6%?
(l)mﬂﬁ?n_ (2) WieCTERd (3)@‘“‘"

(48)

(4) FOHE TrEdl

(4) Rt

(4) D

(4) I

(4) T

(4) TH WH

(Continued)
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~

159. emfa iy it = ‘waw i fRm i 7

(1) goh (2) vy (3) 9, (4) SavHrA
160, g 2itweg 1 SR IE I W R 7
(1) Jershfrh (2) Hreedt (3) sty (4) Tew Ay

161. "WRd= 9% YHH! H1 GUIeH S o7 ?
(1) wetem <ud (2) st g
(3) o= et ' (4) srewpem wg
162. "gon’ w5 Frary fora Raraer ¥ feran 7

(1) raref s gt (2) W Rk
(3) Sraware g (4) f i
163. 'S’ W et e e werteR gr R 2 7
(1) ¥l s (2) ¥
(3) =g et (4) T ¥ v

164. ‘st W wdl el w=e T Fifg .

(49)
(Turn Over)
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165. ‘sl o1 Wt v e <rafor IR
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